MAKE THE BEST OF EVERY SOUND

Bass Reflex Ported Subwoofer with Built-in Amplifier

BK-60
BK-80

“Instruction Manual

<]
0
=

Thank you for your concern about the use of this product, please read the instruction carefully before using this product.

www.mbqaudio.com



m Wiring

X This product provides two types of signal input methods. Please choose only one method to
connect the subwoofer. Never use both methods at the same time. Improper operation may
lead to damages or accidents.

% When choosing speaker signal as your input method, remote start wire (Blue/White Cable)
cannot be connected. If the cable is connected, it will leads to the automatic switch off
function failure.

% If the input signal is too strong, the subwoofer may have crackling & popping sounds,
if it continues to happen, the subwoofer might be damaged.

% Make sure mounting screws will not puncture wiring harness,brake or fuel lines, or the
vehicle’s fuel tank.
Some or all of these may be located behind or under the mounting surface.

B Additional information:

Remote turn on wire: connect to remote wire of the head unit. If there is no remote wire
from the head unit, connect to the vehicle's ACC wire.

Ground wire: connect to a bare metal part of vehicle body.
Power cable: connect to the positive polarity of car battery.

As for the content change, we are sorry for no further notice.

m Remote Control

1. Before turning on the device, set GAIN to minimum
value, phase set as NORM, low pass at middle.

2. Bass/treble of head unit set to zero, setting volume
to standard level is easy for use.

3. By increasing value of GAIN factor, volume will be
increase as well and balance the system. Value of
gain or volume too high may cause distortion, so
when doing adjustment of the system must ensure

m Technical Specifications

Model BK-60 BK-80
Subwoofer Unit 6.5inch 8inch
Max. Output Power 280W 380W
RMS. Output Power 180W 200W
Impedance 4Q +4Q)
Frequency Response 20~150Hz
Sensitivity(1W/1m) 86dB

Phase Switch 0°/180°

Built-in Amplifier Type Class D

Input Sensitivity

RCAinput 0.4V
Speakerinput 1.0V

Source Voltage

10V~14.4V

Size(LxWxH)

452x201x209mm 488x251x260mm

Weight(without accessories)

7.25Kg 11Kg

the speaker work regularly and do not under distortion
condition. If there is distortion condition appear please
lower down the volume of head unit.

. After setting GAIN value is done, adjust the low pass

frequency to match with speaker system, low pass set
as middle is recommended.

(1) POWER INDICATOR . Volume will be influenced by adjustment of low pass

@ GAIN ADJUSTMENT frequency, so must keep adjust until get the ideal sound.
. Last is to set up the phase. The phase adjustment is

® BassBOOST different depend on different car and where the sub

@ LPF woofer located. Sound output can be switch between

(® PHASE SELECTOR NORM and REV.



m Dimensions
BK-60

BK-80

251mm

L‘
"l

209mm

260mm

‘A

v _ Lgb—J

A

452mm

488mm

m Wiring Diagram

If you are using only the Low level (RCA) inputs, you must connect the remote wire from the
subwoofer to the system's head unit so subwoofer will turn on and off with the system. If you
will be using the speaker-level outputs from your head unit, you do not need to connect the

remote output. The subwoofer's speaker-level inputs will sense voltage on the speaker wires

WARNING and the subwoofer will turn itself on. Use only one of the audio inputs, otherwise, it may lead

to audio interference.

® Wiring Diagram1 (High level input)

(H) ()

| m— e
Yellow wire Fuse 12V BATT?VY
-

Black wire (Power-) near to metal part of vehicle body
S

Blue/white wire
= DO NOT USE

Gray/black(-) and gray wire(+)

Speaker

White/black(-) Right channel output wire
Not in use in this and white wire(+) =
type of installation
@)
Audio Device

@)
| my

Speaker

REMOTE CONTROL Left channel output wire

(H) ()

Yellow wire Fuse 12V BATT ; \\
-

Black wire (Power-) near to metal part of vehicle body
S >

Audio device control wire

=

= — on

Blue/white wire

) RCA Signal wire
mm mm —> | Audio Device




m Accessories

.

Fastener Tapes x2

Remote Controller x1

]

Screws(M3x6) x2

DCCord x1

T m

Screws(M5x10) x4 Screws(M4x20) x4

S S
S S

Cable Holder Bar x1 Mounting Brackets x4

Wiring Harness x1

m Installation Guide

Cable holder bar

m Installation Guide

1. Decide where to install the subwoofer. Choose between using the fastener tapes and
using the mounting brackets. Simply tape the subwoofer to the floor when choosing it.
Or read the following guide to use the brackets.

2. Use four (M5x10) screws to fix the attached mounting brackets to the bottom of the
subwoofer.

3. Mark the tapping screws' postion on the floor.

4. Drill the holes and fix the subwoofer to the car using four (M4x20) screws.



	页 1
	页 2
	页 3
	页 4

